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Lab 9
Common Emitter Amplifier

1. Assemble the circuit in Fig. 1:

2.  Calculate the following DC  values:

VB = _______

VE = _______

IE Ñ IC = _______

VRC = ________

VC = _________

VCE = ________ VBC = ___________ Is the transistor active? 

3.  Calculate the following AC values:

(AC resistance of the base-emitter junction) rNbe = _________

Gain: AV = ________

4.  Measure the values that were calculated in step 2:

VB = _______

VE = _______

IE Ñ IC = _______

VRC = ________

VC = _________

VCE = ________ VBC = ___________



Fig. 2 VIN

Fig. 3 VOUT

5.  Connect channel 1 of the oscilloscope to V IN and channel 2 to VOUT.  (Notice that the input
signal is a sine wave of 10mVPP at 1kHz.)           

Measure the gain: AV = _______

6.  Sketch the input and output waveforms.  (Notice that
VOUT should be “riding” on VC which is a DC value.)  
What is the relationship between the two waveforms? 
How do the calculated and measured values compare?


